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PART : PHYSICS

1. Alree dipole is kept in & unilorm electric held Ep a& shown in ligure. Find time period lor small

oscilafions.
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Sol.  Walch Video Solution
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Ans. (1)
Sol.  Walch Video Solution

3. Agasisal 27°C. The temperature (& in °C) at which intemal enrgy is doubled, will be ;
(1) 127°C (2) 254¢ (3) 527°C (4) 327°C

Ans. (4)

Sol.  Walch Video Solution

4. Which of the lollowing do not have same dmensions
(1) Surface Tension and Impulse
(2) Anguiar momentum and Plank's Constant
(3) Torque and work
(4) Young's modulus and pressure
Ans. (1)
Sol.  Walch Video Solution
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5. Malch the column for nel elecirc field
(8) AL & point near infiitely large unilormly charged sheet having

charge density o (p)i
(b) AL & point between two inlintely large uniformly charged sheets
having charge dersiies oo & -a Q) -2‘-:;
(¢) Alapoint inside unitormly charged hollow sphere
RR
having charge densiy o m%
(d) A & point outside unilormly charged hollow sphere
having charge density o (&0
(1)a-r,b-pc-8.d-q 2)a-g.b-p.c~sd-r
(3ja-q,b-s.c~pd-1 [@)a-qb-r,c~8d-p
Ans. (2)
Sol.  Watch Yideo Solution
6. In @ current carying solid cylinder find 1 (< R and > R) lor which magnadic lield B is half of maximum value
ol magnetic fiekd.
— Solid cyfinder
R R 5R 5R R 3R A
(1) 5-3‘ {2 37 3 73 ) 2%
Ans. (1)
Sol.  Walch Yideo Solution

7. Aboal is moving in & river down steam with velodity 27 kit with respect 1o river, Velocity of rive i
9 kanihr. A ball i thrown with velocity 10 mis vertically upwards from the boat with respect lo the boal.

Find horizontal range of ball with respect 1o ground.
(1) 20 meter (2) 10 metes (3) 30 metes (4) 40 meder
Ans. (1)

Sol.  Walch Video Solution

B.  Radus of first orbit of H alom is & debroglie wavelength of elecron is second ortit will be

(1) 2z89 (2) dma; (3) 6=ag (4) Ba,
Ans. (2)
Sol. 211: - ﬂ}.u
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9. A partice is moving along a circular path in vertical plane comected with @ light siring. Speed of the
panticke at highest point is YR . Find rasio of Kinetic energy of the partice al lowest and highest point.
i td @) - @2 (#) —
n* n" -4 n n+4
Ans. (1)
Sol.  Walch Video Solution
10.  Stalement - | : Time period of simple pandulum is more & top of mountain than boltom

Ans.

1.

12

Ans.

13.

Statement - Il : I value of g decrease time period of Simple pendulum iNCreases o vice versa

(1) Statement-1is True, Stalement-2 IS True, Stalement-2 is a coract explanation lor Statement-1.

(2) Statement-1 is True, Statement-2 is True, Stalement-2 is NOT a corect explanation for Statement-1
(3) Statement-1 is True, Stalement-2 is False

(4) Statement-1ig False, Statement-2 is True

(1)

Walch Video Solution

A cail rolating about 18 axis with angular spesd o in uniform magnedic field B which is perpendicular 1o
plane of coil. If area of the coil is A, Magnelic flux and inducad eml in coll will be

mzaoma%ﬁ (2) 26¢0 and zéro
(3) BA and 26¢0 (4) BA and %
(3)

Watch Video Solution

Two cols having current | and & placed nearby each ofher, If currents in coils are changing with time
then induced émf in lirst coll will be (L is sell inductance of each coil and M is mutual inductance of bath
the coils)
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3)
Walch Video Solution
Which of the following graph is comrect batween de-broghe wavelength and kinetic energy
= M?
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A pamcle projected with same spaed at angles (45 - a) and (45 « a) from horizontal then ratio ol
Mmaximum height altained by thesm will be
1+ c082a 1~ 008 20 1-8in2a 1+8n2q
i Sellibcciares ¢ Ydanmern
”1-cosZu (2]1*.(:0320 mbs‘n&l Hl-ﬁn?.u
Ans. (3)
Sol.  Walch Yideo Solution
15.  Given Grouil work as
k }
&
(1) NAND (2) AND (3) OR (&) NOR
Ans. (3)
Sol.  Walch Yideo Solution
16.  Twobals A and B are suspended as shown inligure. I ball Ais released ten find velocity of ball A ahee
elastic collsion
B0°\ /
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Ans. (2)
Sol.  Walch Yideo Solution



